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109. Ifa:b=3:7and b:c=7:86, then Find the ratio between ¢ and a

A 1:2 B) 3:6
C 6:7 @ 2:1
(E) Answer not known
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110. The ratio of two numbers is 3 : 4 and H.C.F is 4. Their L.C.M. is

@ 48, ' (B) 38
(C) 58 (D) 68

(E) Answer not known
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111. A number x is divisible by 13. When this number is divided by
16, 24, 32 it leaves a remainder 6 in each case. The least value of
x is p
@ 3% B) 391
(C) 389 (D) 392
(E) Answer not known
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121. If the HCF of 108 and 234 is expressible of the form 23x -51 then

what is the value of x ?

(N ®) 2
© 4

D) 5.
(E) Answer not known
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122. Find

the HCF of the polynomials x*+x*-x+2 and

3 e S
2x7 —-dx~ +5x —3.

@ =% 41 (B) xZ+x-1

0y - =T Te="T “ (D) Tx>-Tx+7

(E) Answer not known

X +x?-x+2 womp 2x° - 5x% +5x - 3 fu uegnuus Caramauseer

BS.Qun.ar. srens.
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133. There are 80 students in a class. If 25% are absent on a particular
" day. Find the number of students present in the class.

@A) 10 @ e0

(€) 30 D) 25

(E) Answer not known
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134. The ratio of boys and girls in a class is 5 : 3. If 16% of boys and
8% of girls failed in an examination, then find the percentage of
passed students.

@ 8% (B) 13%
1% D) 92%

(E) Answer not known
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145. The missing term in the given alpha-numeric series is

2X2,7T4,14P 12,23 L 48,

@) 34H 240 _ (B) 34 H 144
(C) 30H 100 (D) 30 H 120

(E) Answer not known

&Gy Qan@asiiu_Rérer arar apsgy Ggmfier QUL 2 moy
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(© 30H100 (D) 30H120

(E) der Ggfuddo

Aw 2 24 W QL
\

RAJAJI TNPSC COACHING CENTRE, NAMAKKAL 94439 24358, 99655 13323



RAJAJI TNPSC COACHING CENTRE, NAMAKKAL 94439 24358, 99655 13323

146. Two unbiased dice are rolled once. Find the probability of getting
the product of face value is 4 or the difference of the face value 1s 5.

1 (“ 5
(A_‘) 12 k @ 36

1 7
© 9 D) 36
(E) Answer not known
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158. P and Q can do a piece of work in 20 days and 40 days respectively.
They started the work together and Q left after some days of work
and P finished the remaining work in 8 days. After ho;w many days
from the start did Q leave?

(A) 9days

(B) 10 days

(D) 11 days |

E) An's_wer: not known
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159. Find the sum of
1+3+5+-+ 55

A) 700 @ 784
(C) 555 (D) 550

(E) Answer not known
Azm_fen smpod. srers.
1+3+5+---+ 55
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(C) 555 D) 550
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160. The next term in the given sequence is
0, 2,24, 252, 3120,

A) 42450 B 16650
(C) 38450 (D) 44650

(E) Answer not known
&Cy GQan@ssuud Rerer Qgmir cuflensuies aumd SiBss 2 miy
0, 2, 24, 252, 3120, _

(A) 42450 @ aess0
(C) 38450 (D) 44650

(E) dler Qsfluciooe
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161. In the series
6412287421538

how many pairs of successive numbers have a difference of 2 each?

One ' (B) Two
Three (D) Four

) ZAnswer not known
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170.

The reading in a field book are as given below

To C
(in meters)
150
20 to D — 120
80 — 50to B
30 to E — 50
From A
The area of the field is
8550 m.
(B) 7550m?
(C©) 5750m?z
(D) 5650 m2

(E) Answer not known
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171. D, F, G, H, I and M are sit_ting in a row. I and M are in the centfe,
and F and D are at the beginning and at the end. G is sitting on the
left of D. Then who is sitting on the right of F?

@ =,

© ™ % (I}

(E) Answer not known
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172. If A =26, SUN = 27, then CAT =?

24 (B) 27

57 (D) 58
(E) Answer not known )

A =26, SUN = 27, aafleo CAT =?

-‘gg" - (B) 27
) Fevi QzAusfiovea e
2% 2% oylgy-22 A 20 N l&, v e 'i “:
P B Cep Rk WAL T K
7z Y x.w v L T $ R & P o y
2% by b E &4 e oo
L ey 5D

Lok

coa T LTV SR =2

RAJAJI TNPSC COACHING CENTRE, NAMAKKAL 94439 24358, 99655 13323



RAJAJI TNPSC COACHING CENTRE, NAMAKKAL 94439 24358, 99655 13323

173. If a # b # ¢ is given, which one of the folloﬁﬁg 1s correct?

(A) b#aze

(B) a,b,c are distinet

a=b=c¢
a#cora=c
) Answer not kno
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184. Divide Rs. 2,602 between A and B, so that the amount of A at the
end of 6 years is equal to the amount of B at the end of 8 years,
compound interest being at 4% per annum. |

(A)' Rs. 1,300, Rs. 1,252 (B) Rs. 1,452, Rs. 1,150
(C) Rs. 1,302, Rs. 1,300 @ Rs. 1,352, Rs. 1,250
(E) Answer not known '

@THES 4% sl Qe iyudd 6 apLmsadd A &g deLsed Ggrosuneg
8 uGLhsais B ar QprevssEs sw0TE BméEd aefll®d @5 2,602

A wpmib Ber u:&x@',&dr
@) @ 1,300, @ 1,252 - B) w. 1,452, @5. 1,150
© @ 1,302, @ 1,300 @ & 1,352, . 1,250

(E) e Qsflucioees
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185. Find the simple interest on Rs. 68,000 at 16%% per annum for

9 months.
@ Rs. 8,500 (B) Rs. 8,000
(C) Rs. 9,400 (D) Rs. 9,100

(E) Answer not known

m 68,0005@ 9 wrshisEsss 162% aupL wly ddssde sefl alyg

SRS, _
@ - 8’500 s e | (B) &n- 8)000
€) . 9,400 ! D) . 9,100
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186. A dice is thrown four times and its four different positions are given

) () @) 6@

Find the number on the face opposite the face showing 2.

4 (B) 5
© 6 (D) 3
(E) Answer not known
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187. Find the missing term of the sequence :
1; 12, 19, 2443, , 91

% 50 (B) 45
48 (D) 63
(E) “Answer not known
Azm_ir cuflensu@e o drer AP L erarenentd sreTs.

7,12, 18, 24, 43, » 91
A) 50 B) 45
48 (©) 63

) deL Asfluddme

. | 4 2y L3 ug q

f

\/\/\/ VAV,

t\ 9 +5 Th3

RAJAJI TNPSC COACHING CENTRE, NAMAKKAL 94439 24358, 99655 13323



RAJAJI TNPSC COACHING CENTRE, NAMAKKAL 94439 24358, 99655 13323

197. Simplify : 471+ 4%y 4"3)0 x(471 + 472+ 4-3)1 )

63 19
(A) 3 - B a3

21 64

i By ==

@ 64 ' ' D) 21
- (E) Answer not known

sases: (A7 +472 44730 x (@ 4477 1470,
. T ; 0

19 ® & -

21 | 64
(© 64 ® 57
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198. The average mark of 25 students was found to be 78.4. Later on, it
was found that score of 96 was misread as 69. Find the correct mean

of the marks.
@ 7182 @ 79.48
(C) 78.42 (D) 78.24

(E}- Answer net known

25 wreweuisellar syrsfl LAUQuar 78.4. @mg 96 eawp wdluurergy
69 ereng saupsors  aRssUULLE  seLBlulUlLg crefien,
wuQuensErssrer sfluner syreflenws srans.

A 77.32 * : 79.48 ¥

(C) 178.42 | (D) 78.24
(E) oo Qzflwsiierara
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- 199. A person distributes his pens among four friends A, B, C and D in
the ratio %i— lé then the minimum number of pens that the
s - A

person should have is

(A) 23 (B) 55

@_5_‘?’_ | (D) 65

(E) Answer not kuown
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200. If the ratios formed using the numbers 2, 5, x, 20 are in the same
order of proportion, then the value of x is

&) 50 (B) 10

@.?._. ' (D) 4

(E) Answer not known

2, 5, %, 20 9w aemsea oGy aflesus vweTuBhsd Siewwyh
lflstiser aldfls swwns Gmider, X ér Aoy

(A) 50 : By 10 -
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